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£ lastic arnery

MO LT
NMuscular van

£ Muscula

venulie

Jhichis then

cystem and U

\ \l‘\'Y'l)l\A

Capiliane
(
D

E. Mot artenole

Elastic artencs

[arge Veins

¢ Which type of bloodc

A Conunuous

o5t Imponant iype o

ae Tad?

apillanes has ncompleie

.

{ blood vessels in respect ol interchange between the

ot d\'momm\:o\ubxu\ \srans?
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wscnlar svstem and tissue fluid?
\ Artenoles
B Capillanes
. Flasnc artencs
D. Large vans
: Metartenole
a7

aecor dy ‘umnmuxnh.\\.\\ Laman

ood capillanes has incompl

¢ Which type ol bl

A Contmuots
aith disphragm

B. I cnc-mn'cd
withoul diaphragan

( F enestrated
~f Sinu sordal

F B and €
1a) fealures.

ye following straciu

| EXCEVI qus of\l

§ A lymphatic capillary has al
- g PSS J.-‘-.I‘-

.
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$. Which type ofbloo ]
¢h type of blood capillancs has incomplete or discontinuous basal lamana?

A Connmuous
B. Fencstrated with duaphragm
C  Fenestrated without diaphragm
'3xnnxnld~\\
E. Band(
{ollowing structural fearures

lary has all EXCEPT oncof the

A lymphanc capil

strated endothelial cells

- " ene
between endothelial cells

B. Lack of tight junciions
¢  Lack of valves

(LS AL associated with e
4 or no basal larna

D. Nopex ydothelial cells

£ Poorly develope

This condition occursas resultoft

Varicose veins &< abnormally cnlas ged LOMMOUS Vs
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e At Aalihe, H" N -

& Vo
1ICOSE VEiIns are .}
Mom . =
rmallv enlarged toruous veins. This condit
) 00 OCONLS 88 2 i
a result of

ation ol v essel walls

A. Degener
B. Loss of muscle tone
C. Valvular ncompetence

o All ofthe above

E. AandD only|

f FRAL \‘;‘
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A Fewer collagenous (ibres in tunica media
. Feower vasa Vasornim

f, Indistinct intemal clastic lamina

D. Promunent €xicamn sl clastic lanuna

: hin tunica sdventitia
2l CRiSC SYSCImC blood

yv AsOCONSITICIOT AgEHLS th

8. Which blood vessels arc mo 1 affected ©

e by ol™ ascular smooth muscles?

pressus
Artenolcs
Capillancs
Elastic arencs
Muscular artencs

Vvenules
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9. The apex beat s b blec
s the palpable conical part of the left veatricle. Which ol these surfac
3

markings is the bes .
) e best place 10 feel the apex beat on the thoracic w all?

A Stemal edge in the second left intercostal space

Stermnal edge in the second nght intercostal space

-~ < i -
Lt .ntercostal space just internal to the mid-clay iculag line

Just below the xiphisternum

Right $®™ intercostal space just internal to the mid-clavicnlag lne

s while playing football. Ax the clinic, the
{ the fractured nb Which of these ribs

merating the nbs from?

actured (broke)a nt
smine the pumeral value o
yost suitable rib 1o sarnt cnw

10. A 26-ycar old man fx

medical officer has to dete

or its costal carmiage s the i

Rib 1
Rib 2
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A. AOra
B. Superior vena cava
&= Dmch:occphnhcmmk
. Trachea
£. Oecsophagus

ns cross which nb the mid-axillary line?

costal lines of pleura reflectio




AalibC,

~e |

C. Brachiocephalic trunk

D. Trachea

E. Ocsophagus

The costal lines of pleum reflections cross which nib in the mad-axillary lme?
A 6%
B. 8%

' 10"

D, 12"

B 4™

is 1abelled with the mYow this esdiograph?

13 Which chamber of the heant
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Which chamber of the heant

[ efl atrium
Right ventricle
C. Leit ventncle
| Y

Right atnum
E. None of the above




O A% L S
DCONL not excrcising. most of his total blood volum s 10 the
. ~ S

hean
icrics
c. capillanes

* veins

Kidneys

through the va coular system by

A valves m the walls ol the blood v cssels
cansed by the smooth muscle in the blood vessel walls

. peristalsis
* pressure aradients created by the hean

4 osiolic pressure
e "nllmdpwnluc

15 _Blood) moved
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6. Which ofthe ! 3 ~ ;
S {the following is not an imponant Bctor controlling venous blood flow?
posilive cardiac pressure

neeEanve ¢ \x.h ¢ pressure

venous valves

contraction of skeletal muscies
.lc]lAc\.\l‘.nH

17. The maximum pressure devel

oped in & sysICmIC arery
is called the systolic pressure

:

by occurs duonng ventncula disstole
¢ is called pulse pressure

4  occurs duringatrial systole

¢. 15 called the diastolic pressure

if a person , blood pressure is | 10/70, then the
pulse pressure is 10 v/ Hg
b diastolic pressure is 10 mnv/ig
c.  systolic pressure i3 70 o Hg
d |;u;.m arterial pressure is 120 v Hg




Aallb(

L e maimus
P : . )
ressure developed in a systemic arter
\ grprees ; . ’ IC ancry
) called 1he SYSIOC pressare
L OCCArS un
QUrs dunng ventricular diastole
siled pulse pressure
oours dunnuatnal systole

e
15 called the diastolic pressure

l . . . ™"y 1
{ a person’s blood pressureis 110 0,then the
DUIsSe pressure | 10 mm }{'1

s  diastolic pressure 15 40 mm Hea

- 3 stolic pressure 18 70 v g

d. mean artenal pressure s 120 v Mg \

e All the above '
.
!

Pulse pressurc s calculated by
tolic pressure (O 8§y stolic pressure :
stolic pressure ‘
e then dividing by 2

s the diastolic and the systolic

| 9
i wdlding dras
nbhtraching dinstol

¢ addingthe diastolic and systolic pressur

4. adding one-third of the difference betweest

pressure 10 the di
sone of the above

jc pressure from ¥y

astolic pressure

o ESNTRE ® S w———



20. Friction between blood and blood vesseis.........

AaBbe

s -~

INOICNe D 1'«'.".\\ \

INCICASSS as blood viscosaty

CALSCS penphcral resistance
9

loes not affect the blood flow

w1o1s would increase permphernal rensiance
DI1OOG VisConly
decrcased hematocn!t

.»ll\.

increased vessel rw
decrensed blood volume

Nonc ol the above

9 Venous retum would be mcreased DYy

«  dilation of the veins

b loss of the venous® alves
increased skeletal muscle acuvity

4 decreased respiraiory | ale

¢ .;\p\[.ﬂlﬂl\
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information about blood pressure 18 collected and sent 1o the bran by
: OsSIMOTCCepLoT
b. endothelial cells
chemoreceplorns

. photoreceplorns
* baroree cplors

4 1f there 15 a blockage bet

ween the AV node and AV bundle, how wall this affect the
ippearance ol the rCG
a) P-R interval vould be smaller
b) ORS interval would be longer
there would be more P waves than QRS complexes
1) there would be more QRS complexes than P waves

ey 1the T wave vould not be present

»§_ The T wave onan ECO represents
. ventricular depolanzation
venincular repolanzation
¢) atrial depolanzalion

d) atnal repolanzation




.

¢) " CT'”"\"‘ 14 satnle
A1 blood travels from the
i) Pressure imncrcasces
b) viscosily Increases
(e 1ANCE INnCrease
locitVy INCreas
INCICASSS

“ COTRIMTMEN 1300 Detween ihe SA node ol the AY node becos r\hl'x.-\‘nh b e
. - 2 - ]

mosl cen vinly atYected
the ventricles will contract &

{ will InCrease

t a slower e

Ky

b) afteriom
) the atna ‘.‘-."‘-‘ coniraci al & =0 vey Tale

d) stroke volume W i1l increase

¢) all ot Ine above
¢ Detween the AV nocle snd AV bundle, how a1 s affect ™he

3%, If there 1s 2 blockag
FCG

would be smaller
Id be longet

AppeArance ol the
2) P-R intery al
b) QRS inter al wou
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Hhere would be more P waves than QRS complexes
d) there would be more QRS complexes than P waves
¢) the T wave would not be present

valve damaged by rheumatic fever fails to open completely [his is called:

of SIENONIS

b) heart block
¢) ischemua
d) Ml

¢) ﬁbnllahon
Yot 2 1)) \? y

.qe




) fibnliation

10. According 10 Srarling's Law of the hean cardiac output is directly related 10

a) the size of the ventricles
b) the heart raie

M amount of blood retuming o the heant

d) end-sy stolic volume
&) cardiac reserve

11. The T wave onin FCG represents
3) ventricular depolanization

s ventricolat repolanzalion
¢) atnal depolanzation , B ™

2

Nioadh 3 I




17 The R wave ol ECG

' Ane ‘
. Coincides with ventricular diastole
%

) ‘;nll'.\l'q" 4! mup'nim\: 10 140.2mY
C ‘» inveried in lead ) ‘.
b d  Has duration of 1-2 mllisecond ‘,
A s due to depolanzation of the maén ventricular smscies E ‘
{

11 The | wave on s FLO represent

) ventneuia depolanzation

W ventricular repolanzation
¢) atnal depolanzation

d) strial repolanzation

¢) ! eONCULAT §Y flole

34, The stna will cmpty during which of the phase

.
. st diastole

by sinal Y 10le

T lia nlsrr‘u TN LA
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34 The atna will empty dunng which of the phase
. atnal diastole
atrial systole
ventncoular diastole
ventncular systole

closure of AV valve

1S The first heant worindd results when the

v venincle contracts

b, scomlunary alves close

A~V valves close

~

d  atna contract
Aortic valve closes







an Ot '\‘Ub(

AT ST TeA
C I wave
ad U wave
c. Q wave ‘
18. The time 1aken for an impulse 1o travel from the S-A node 1o the A-V node is shown
on the ECG stnp as the”?
a QRS complex
S-T interval
C P-Q interval
d. ORS-T interval
¢c. P-S complex ‘
i ‘

m—

19 Which of the following factor helps venous retum 10 the heat?

a. Valves

b. Inspuation
‘ ¢ skeletal muscle
4. lying down
&7 all the above

0. The amount of blood ejected by the {efl ventricle cach manute is calculated (rom

which formula? : P
- A 293 3.8 0%

o A A

212 _..;-.;7}1 \Z) -' - S
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0. S-1Tinterval
¢. PO imterval

d. QRS-T imterval

¢ P-S LU’-«-|‘)\\\ '

39. Which of the following factor helps venous retum to the heart?
i Valves :
bh. Inspiation
¢ skeletal omscle
d !‘,wug down

il the above B
10. The amount ol blood cjected by the left ventricle cach manute is calculated from
which formula?
a. hean ralc stroke volume
A heart rate X droke volume
¢ heart rale divided by groke volume
d. hcart ratc - sroke volume

¢. heart mate X End diastolic volume

yde is the normal pacemaker because ol 118 -

$1 The SAM™




-

i1 The SA node is the normal pacemaker because of its
2. locanon m the atrum

b. neural control

¢ muscular structure

d Relanve position 0 the AV node

rate of impulse discharge

12. About the cardiac muscle all the following are irie except .

a1t has low electric resisiance of the membrane al ihe intercalated discs
b. It forms true syneytium,

A A a9 sy B Y 3 A e
D / U " ds . x - A S i L.Iu-{l(’x AdnCtx Aals( P’\ . qognn
» »- - 4 Soent v
. o Svessmovym—er P e ‘"‘_“"“'I"'::f“tf‘;‘-*'-‘.
d. heart mfe - siroke volume b Kbl
¢. heart rate X End diastolic volume
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b. It lorms true syncytuin

|l or none Law

[t obeys thea
into 1itanic cont
e lissuc

4 Tt cannotl enter action

e. Itisan excitabl
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HE A -:‘\\A' . “ -
. mn \h-;_ dlowest 1hy ‘\\.“,n““‘\ - '\\c

S A node
0 ~ M (3¢ .
A ROGE Wi \\.nnpllhch( imulation
C AV node

* L\\\! Xinje hoers
'

Ny .
NODC O ine \\‘;;‘\\ ¢

le differs from hat

14, The action potential of cardiac oM
Ol 8K C‘(' \ i\':l\»&‘.(\ in
11 18 prop ygatedd ore slowly

.

1 18 shorter in durathion
1 has a higher ymplitude

 has no plateau
¢ il of the Wove :
1§ Whenthe bundlcof ths 18 completely interrupted.the
Ventricles contractal a rate of 30-40beats/ miutes
by atna beal jrregmlarly
shape from beat to beat

¢. QRS complexes vary in \
astant from beat 10 beat

4 P-Rmtery al remains €O
§_A node stops discharging. s
e —e 3_—3. . A e

.



MAALON :
16 - |
i A1 1N 3 na are i
. YWING Are Cormect exXoopt .
he lefl ammal wall i
.
) the el

enincie)

‘,‘\‘..Y : . .
Jbout the same thickness as the nght strium

Purkin separated from the left atrium by x bicuspid valve
urkinye system allows ) »

’ je: he exatanon of all ventricnlar muscle fibers 10 oocut
i1 NCANY 1HC SanK e

* the naht heart recaives oXyR

L

enated blood from the four pulmonary veins
None ol the above |

R |
‘l

(7 Tt is impossible to tetanize the cardiac muscle because P |
. thereisalong mechanical refractory peniod ;‘

* the refmaciory period and the mechanical contractile response are of almost A

squivalent duration = |

¢ 1he heart muscles do not contain Ca'* . '\. °4

4. the mech nical contractile eventis usoally shorter than the duration of the e\

+lectrical depolanzalion \ .

All the above g :

(g Aboutthe cardiac conducuvity, a1 the following are (rue except t \

; , jtis slowestin ihe A-v node e

b, 1tis maximal in the purkinje fibers A

¢ itisslowestin the ventricular m\;sc\c ;
i "o b _J,,—.Mz-—l | 2 aramal st amns ] mts a

»
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d
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ihere

. ]

loNg mechanical relicio
the refractory penod and the mec

SquiIy sent duratyon

thie heart muscles do not contam (

the mechanscal contracii vent &8
clectrical depolanzanon

\Xl \l\C above

-

‘T\ '\\)i‘\l("lf L. ‘f\‘l A \U'l(s\l\ "y

A
D

d

N
.~

1118 slowest it the AN node
(AL ll\\‘(‘ﬂ'\.\‘\ in the P\IY\H\)C ibers
i1 18 slowest In the v
i1 18 decreased LY
it

v agal
occurs ithrough modified cardiac

entnculiag rarsc)

Mt ety

P

11 v Llahon

muscie fibers

C ICSDOTISE

ol the following sre true eXCept

et

PR,

e it




i< i .
). Propagation of 1he action potential through the heart 15 fastest the
SA node

b. atnal muscle
¢ AV node
d. purkinje fibers

-~

ventricular muscle

50 The greatest percentage of blood vo
a. Heant
b. Aora
¢. Distnbuting arienes and artenoles
d. capillanes
venules and veins

lume is found in the

5 1. Ventricular pressurc is higher than the atrial pressure in all phases of the cardiac cycle
except In
v Isovolumene contraction phase.
b atrial systole phase
c.  masimum cjection phase.
4. reduced cjection phase.

-~
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c
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11
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1. Venmcoular
¢ r pressure 18 higher than tf ' !
: ¢ than the atnal pressure § hases of
o v re i all phases ofthe cardiac cycle
1. Isovolumetric contraction phase
in !i \§ I\)l\‘ ‘)‘hw ¢
¢.  maximum ejection phase
d. reduced cjection phase

e Noneol the above

€3 AV valves are opened in
|sometric contraction phase
irial systole phase " |
¢ reduced ejection phase
4 maximom ejection phase
. None of the above

$31 All cardiac valves are opened in:

4 jsometric relaxation phase

b. isometric contraction phase

¢ maximum filling phase

4 all of the above .
i , o .

* \ODL of the above.
JQ-I 1 5 I

s 7o P

-

\m"s-"“"h
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AN 8 = samnceox| asecee Aapbe A\ ™
y - o - v = = 5
None of the above |
! 53 '\"' ! | y
| Carding valves are up-TlU\ mn

L isometnc relaxation phase

b. isomeinge contraction phase
' ¢.  maximmam fHilling phase

d sl ol the above

¢ None ol the above

$4. P wave isducto
sinal depolanzation
b atnal repolanzahon
¢. atrial systole

4  atrial diastole

e AV node depolanzation

$$ The QRS complex is due 1o
ventricular repolanzation

ventricular depolanzation
¢ atrial depolanzation
atrial repolanzation ; :

|

d
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L hean sound ocours i
2ovol -
ovolumernc metnc contraction phase
itnal systole phase
1sovolumetnce relaxation phase
maximum Hllmg phase

sinal depolanzation

The second hean wound 13 duegto
A closure ol AN vianlves
7,“,( closure of seenilunag valves

¢ closure of all valves
d. opening Ol AV alves
« atnal systole phase

A

|
¢8 Durng the slow cjection ph

lefy atrial pressurc 18 falling
elow lefl ventnoular pressure.

ase. which one ol the followingis truc

A
Iy, Aorlic pressureis falling b

The A-V valves are closed
d  Left ventricular pressure is constant.
rhe QRS complex rerminates just before this phase

c.

. " — 2833 B AN - iz -
O i — B i
nD M

EAlC) mm—— T e




All : KX 4]
i Gardiac valves are closed in what phase (phases) of the cardiac cvcle p
' . F - "\ .

1Someinc relaxation phase ‘

<

0. maximum Glling phase

C reduced Nlling phase ‘
d all of the above
C none of the above

62 As regard the standard limb leads of ECG, lead 11 represents
a. the potential difference between the left arm and the nght anm. 1
b. the potential difference between the left leg and the left arm. '.




Aalin(

none of the above

’\ ‘ - E
cgard the standard limb leads of ECG e 11 repr 1
O cpresents
) mne ’
he potential difference between the left arm mnd the nght an
: - o Yo xrm
ac potential difference between the left leg and the left arm

rween the lefl leg and the night am
\ leg and the nght leg

the potential difference be
d. the potential difference between the lel

v

non of the above

)
~
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IS ONS USam AL S L i
' A RRIOANYEN . has

the potential dif] i |
dillerence between the lefl leg and the nght lez

d

c non ol the above

Emnthoven’stnangle is an equilatenal inangle, the ndes of which represent
* the 3 standard limb leads :
b. the 3 unipolar hmb leads
C combination of both the standard snd unipolsr leads
d. the heart lies at the top of this tnangle

C non ol the above

64. The exploring clectrode of V1 of unipolar chest leads of ECG is placed o

+  Founh intercostal space at lefl sternal border

Fourth intercostal space at nght sternal border

¢ Fifth intercostal space al the midclavicular line

4 Fifth intercostal space at antenor axillary line
Fifth intercostal space at mid axillary hne

“

C

4

tory function of the lung is for 5 :

—————————— ————————

65. The pranary yespira
TABRIAR U i
R Lo

wesan 2 755 \p . —— -~
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65

4

¥ G Yo G e O

N

rith
. “ICT(\‘.\P \i “ .
space at the myde) .
ll I ]:\:I‘ . “1\"\, \c‘l\»“ iine W,

intercostal snace »
{al space al antenor axillary line

c =i . .
(th intercostal space at mid axillary line

lLhep
x*llh(l::l \\' \'Sl::‘:i:‘“” lunction ol the lung is lor |
b. Acid base balance i‘
¢. Bloodstorage
d. Regulation of blood pressure
¢. Synthesisofl metabolites o B |
surfactant chemicals like angotensin converting enzymes and 1

66 In health which of the following s the most importan! det :nant of the rate of

diffusion

s area of diffusion barrier
difference in partial pressure across the blood gas bamer

difMusion constant or diMusion coefficient
d thickness of the blood gas bamer

e, solublhwoﬁhc gas
“""‘ ‘3L

sansd COaTNoEs CaEs ol hvrs :

The

werge 2 I J



aca ol diftusion barmer

Miflerence ¢ -
Niicrence i partial pressure across the blood

- BAS baurnier
daniusion constant or difTusion coeflicient

d thickness of the blood gns barrier

- solubilitv ofthe

C RAS

[ e most commmon cause of hypoxemia is
\ high altitude

b. dillusionproblems

c shunts

* ventilation perfusion mismatch/abnormalities
¢ mspimanon ol hypoxic maxiure
68 A region of the ling where the venulation perfusion ratio is nfinity (Je there is
ventilation but no perfusion) is called

. night to le intra-cardiac shunts

b. physiological shunts

alveolar dead space
d. lungapex




Al

¢ lung base

69 In hunems, pulmonary nberculosis is \ . ’
. Pulmonary ventilation is h\‘:ah‘c i1 ‘n:“:;\:-] :;)‘:‘\‘ g e 7 e
. Pulmonary perfusion is highest at the apex :
Ventilation/ perfusion ratio is highest at the apex
d. All the above are Inie
None of the above is true

(S

70. The pulmonary arculation

4 1% a high pressure circulation

b is a high resistance circulation

¢ receives exactly half the cardiac outpul
* respondsto localized hypoxiain the lung by vasoconstriction
.

s in parallel with the systemmc circulation
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